
(Papers) SSC Junior Engineer Exam Paper ­ 2016 "held on 04 March 2017 "Afternoon Shift( General
Awareness)

QID : 751 ­ Which temple complex is in the shape of a gigantic chariot, having elaborately carved stone wheels, pillars and walls?

Options:
1) Meenakshi Temple
2) Mahabodhi Temple
3) Brihadisvara Temple
4) Konark Sun Temple

Correct Answer: Konark Sun Temple

QID : 752 ­ Who among the following was a classical Indian flute player?

Options:
1) Shiv Kumar Sharma
2) Zakir Hussain
3) Hariprasad Chaurasia
4) Bismillah Khan

Correct Answer: Hariprasad Chaurasia

QID : 753 ­ Who among the following was a person of Indian origin and he was also a recipient of the Nobel Prize for Medicine?

Options:
1) Har Gobind Khorana
2) Homi J. Bhabha
3) A. P. J. Abdul Kalam
4) Jagdish Chandra Bose

Correct Answer: Har Gobind Khorana

QID : 754 ­ Which of the following is an active enzyme?

Options:



1) trypsin
2) trypsinogen
3) chymotrypsinogen
4) procarboxypeptidases

Correct Answer: trypsin

QID : 755 ­ Which of the following is true?

Options:
1) Red Blood Cells are devoid of nucleus and are biconvex in shape.
2) Red Blood Cells are nucleated and are biconcave in shape.
3) Red Blood Cells are nucleated and are biconvex in shape.
4) Red Blood Cells are devoid of nucleus and are biconcave in shape.

Correct Answer: Red Blood Cells are devoid of nucleus and are biconcave in shape.

QID : 756 ­ Which of the following is a micronutrient for a plant?

Options:
1) hydrogen
2) oxygen
3) iron
4) carbon

Correct Answer: iron

QID : 757 ­ All of the following are characteristics of "Facilitated Transport" in Plants, except one. Identify that from the given options.

Options:
1) Requires special membrane proteins
2) Highly selective
3) Requires ATP energy
4) Transport saturates

Correct Answer: Requires ATP energy

QID : 758 ­ Consider the following pairs:

Name : Formula
1] 2­Chlorobutane : CH3CH2CH(Cl)CH3
2] Pentan­2­one : (CH3)2CHCOCH(CH3)2
3] Prop­2­enal : CH2CHCHO
4] 2,4­Dimethylpentan­3­one : CH3COCH2CH2CH3

Which of the above pairs are correctly matched?

Options:
1) 1 and 3 only
2) 1 and 4 only
3) 3 and 4 only
4) 2 and 3 only

Correct Answer: 1 and 3 only

QID : 759 ­ The relative lowering of vapour pressure and is equal to the _____________ of the solute.

Options:
1) Molarity
2) Molality
3) Mole fraction
4) Volatility

Correct Answer: Mole fraction

QID : 760 ­ Bakelite is what type of polymer?

Options:
1) Thermosetting polymer
2) Thermoplastic polymer
3) Fibre
4) Elastomer

Correct Answer: Thermosetting polymer

QID : 761 ­ Which of the following group 14 elements has the highest electronegativity?

Options:
1) Silicon



2) Carbon
3) Germanium
4) Tin

Correct Answer: Carbon
QID : 762 ­ The code that goes into the __________ tag pair is not displayed by the browser.

Options:
1) <text> </text>
2) <body> </body>
3) <head> </head>
4) <name> </name>

Correct Answer: <head> </head>

QID : 763 ­ Which of the following is included in Character Formatting in a word processor?

Options:
1) Line spacing
2) Emboss
3) Alignment
4) Indent

Correct Answer: Emboss

QID : 764 ­ Which festival is celebrated on the first day of Uttarayana?

Options:
1) Vat Purnima
2) Guru Purnima
3) Onam
4) Pongal

Correct Answer: Pongal

QID : 765 ­ Chief Minister of which State died on 5th December 2016?

Options:
1) Tamil Nadu
2) Andhra Pradesh
3) Karnataka
4) Kerala

Correct Answer: Tamil Nadu

QID : 766 ­ The existence of isotopes was first suggested in 1913 by the radiochemist _______________.

Options:
1) Frederick Soddy
2) Ernest Rutherford
3) Carl D. Anderson
4) Joseph Priestley

Correct Answer: Frederick Soddy

QID : 767 ­ Which of the following is true?

Options:
1) Imposition of price ceiling above the equilibrium price leads to an excess demand.
2) Imposition of price ceiling below the equilibrium price leads to an excess supply.
3) Imposition of price ceiling below the equilibrium price leads to an excess demand.
4) Imposition of price ceiling above the equilibrium price leads to an excess supply.

Correct Answer: Imposition of price ceiling below the equilibrium price leads to an excess demand.

QID : 768 ­ Which of the following is true?

Options:
1) Average fixed cost curve is upward sloping
2) Average fixed cost curve is 'U' shaped
3) Average fixed cost curve is 'n' shaped
4) Average fixed cost curve is downward sloping

Correct Answer: Average fixed cost curve is downward sloping

QID : 769 ­ If demand curve for almonds is D = 73000 ­ 30P and supply curve is S = 18000 + 25P, find the equilibrium Quantity?

Options:
1) 7,000 units



2) 23,000 units
3) 43,000 units
4) 17,000 units

Correct Answer: 43,000 units

QID : 770 ­ Gross fiscal deficit =

Options:
1) Total expenditure + (Revenue receipts – Non­debt creating capital receipts)
2) Total expenditure – (Revenue receipts + Non­debt creating capital receipts)
3) Total expenditure – (Revenue receipts – Non­debt creating capital receipts)
4) Total expenditure + (Revenue receipts + Non­debt creating capital receipts)

Correct Answer: Total expenditure – (Revenue receipts + Non­debt creating capital receipts)

QID : 771 ­ Personal Disposable Income =

Options:
1) Personal Income – Personal tax payments – Non­tax payments
2) Gross Domestic Product + Net factor income from abroad
3) Net National Product at market prices – (Indirect taxes – Subsidies)
4) Net National Product at market prices – Net indirect taxes

Correct Answer: Personal Income – Personal tax payments – Non­tax payments

QID : 772 ­ Which of the following is not a green house gas?

Options:
1) Methane
2) Chlorofluorocarbons
3) Nitrous oxide
4) Argon

Correct Answer: Argon

QID : 773 ­ Ozone gas is continuously formed by the action of which type of waves on molecular oxygen?

Options:
1) Infrared radiation
2) Gamma rays
3) Radio waves
4) Ultraviolet rays

Correct Answer: Ultraviolet rays

QID : 774 ­ Which of the following statements regarding Atmospheric Circulation and Weather Systems is false?

Options:
1) The Coriolis force deflects the wind to the left direction in the southern hemisphere.
2) The pressure gradient force is perpendicular to an isobar.
3) The pressure gradient is weak where the isobars are close to each other and is strong where the isobars are apart
4) The wind circulation around a high is called anti cyclonic circulation.

Correct Answer: The pressure gradient is weak where the isobars are close to each other and is strong where the isobars are apart

QID : 775 ­ The atmosphere only contains what percentage of total global carbon?

Options:
1) 1 per cent
2) 0.1 per cent
3) 10 per cent
4) 20 per cent

Correct Answer: 1 per cent

QID : 776 ­ "ITC Limited" is headquartered in________.

Options:
1) Kolkata
2) Mumbai
3) New Delhi
4) Bengaluru

Correct Answer: Kolkata

QID : 777 ­ With reference to the interior of the earth consider the following statements:



1] P­waves vibrate perpendicular to the direction of the wave.
2] The mean thickness of oceanic crust is 5 km.
3] S­waves can travel through solids, liquids and gaseous materials.

Which of the statements given above is / are correct?

Options:
1) 1 and 3 only
2) 2 only
3) 2 and 3 only
4) 1, 2 and 3

Correct Answer: 2 only

QID : 778 ­ ____________ is a situation when there is a prolonged period of inadequate rainfall marked with mal­distribution of the same over time and
space.

Options:
1) Agricultural Drought
2) Hydrological Drought
3) Meteorological Drought
4) Ecological Drought

Correct Answer: Meteorological Drought

QID : 779 ­ Marble is what type of rock?

Options:
1) Metamorphic
2) Igneous
3) Sedimentary
4) Halite

Correct Answer: Metamorphic

QID : 780 ­ Half of the earth’s crust is composed of which mineral?

Options:
1) Quartz
2) Mica
3) Amphibole
4) Feldspar

Correct Answer: Feldspar

QID : 781 ­ Which of the following crops is suitable for dryland farming?

Options:
1) Rice
2) Ragi
3) Jute
4) Sugarcane

Correct Answer: Ragi

QID : 782 ­ With reference to India's freedom struggle consider the following statements:

1] The socialist activist Kamaladevi Chattopadhyay had persuaded Gandhiji not to restrict the protests to men alone.
2] The first meeting of the "Round Table Conferences" was held in November 1930 in Mumbai.
3] Viceroy Lord Willingdon was sympathetic to Mahatma Gandhi.

Which of the statements given above is / are correct?

Options:
1) 1 and 3 only
2) 2 and 3 only
3) 1 only
4) 1, 2 and 3

Correct Answer: 1 only

QID : 783 ­ The _____________ commercial companies set up their base in India during the Mughal Empire at Masulipatnam in 1605.

Options:
1) British
2) French



3) Portuguese
4) Dutch

Correct Answer: Dutch

QID : 784 ­ In 1853, a Railway line was laid connecting Bombay with which city?

Options:
1) Thane
2) Pune
3) Nashik
4) Surat

Correct Answer: Thane

QID : 785 ­ The traveller Marco Polo who visited India in the Thirteenth century was from which country?

Options:
1) Uzbekistan
2) Italy
3) Portugal
4) France

Correct Answer: Italy

QID : 786 ­ Who conquered Sind in c. 712?

Options:
1) French
2) Mongols
3) Greeks
4) Arabs

Correct Answer: Arabs

QID : 787 ­ Electromagnet was invented by which scientist?

Options:
1) William Sturgeon
2) Enrico Fermi
3) J. J. Thomson
4) Ernest Rutherford

Correct Answer: William Sturgeon

QID : 788 ­

Consider the following pairs:

Object : Mass (Kg)
1] Uranium atom : 10­10
2] Mosquito : 10­5
3] Boeing 747 aircraft : 108
4] Milky Way Galaxy : 1010

Which of the above pairs are correctly matched?

Options:
1) 1 and 3 only
2) 3 and 4 only
3) 2 and 3 only
4) 2 , 3 and 4 only

Correct Answer: 2 and 3 only

QID : 789 ­ Which scientist proposed the Wave theory of light?

Options:
1) Niels Bhor
2) Christiaan Huygens
3) J.J. Thomson
4) Michael Faraday

Correct Answer: Christiaan Huygens

QID : 790 ­ Which of the following electromagnetic waves can be detected using Point contact diodes?

Options:
1) Ultraviolet rays



2) Microwaves
3) Infra­red waves
4) Radio waves

Correct Answer: Microwaves

QID : 791 ­ The energy U, stored in a capacitor of capacitance C, with charge Q and voltage V can be expressed as all of the following, except

Options:
1) (1/2)QV
2) (1/2)CV2
3) (1/2)[(Q2)/C]
4) (1/2)[(V2)/Q]

Correct Answer: (1/2)[(V2)/Q]

QID : 792 ­ The First Past the Post system of election within the Indian Constitution are borrowed from the ______________ constitution.

Options:
1) Irish
2) Canadian
3) United States
4) British

Correct Answer: British

QID : 793 ­ The Fundamental Right to move freely throughout the territory of India is what type of Right?

Options:
1) Right to liberty and Personal freedoms
2) Right to Equality
3) Right against exploitation
4) Right to Constitutional remedy

Correct Answer: Right to liberty and Personal freedoms

QID : 794 ­ Which of the following is a power of the Lok Sabha?

Options:
1) Amends the Constitution.
2) Can give the Union parliament power to make laws on matters included in the State list
3) Considers and approves non money bills and suggests amendments to money bills
4) Approves constitutional amendments

Correct Answer: Amends the Constitution.

QID : 795 ­ Which of the following subjects are part of the Union List?

Options:
1) Banking
2) Agriculture
3) Police
4) Public Heath

Correct Answer: Banking

QID : 796 ­ Which of the following courts can move cases from any court to itself?

Options:
1) Supreme Court of India
2) High Court
3) District Court
4) Subordinate Courts

Correct Answer: Supreme Court of India

QID : 797 ­ Who among the following is a professional Badminton singles player from India?

Options:
1) Sania Mirza
2) Leander Paes
3) Pankaj Advani
4) Saina Nehwal

Correct Answer: Saina Nehwal

QID : 798 ­ Who among the following poets wrote the book of poems "Madhushala"?

Options:
1) Harivansh Rai Bachchan
2) Rabindranath Tagore



3) Makhanlal Chaturvedi
4) Munshi Premchand

Correct Answer: Harivansh Rai Bachchan

QID : 799 ­ Which of the following is true about non­chordates?

Options:
1) Heart is ventral
2) Gill slits are absent
3) A post­anal part (tail) is present
4) Notochord is present

Correct Answer: Gill slits are absent

QID : 800 ­ Anterior end of an earthworm consists of the mouth and the ____________.

Options:
1) cliteillum
2) metamere
3) prostomium
4) setae

Correct Answer: prostomium




